SUPPORTING INFORMATION:

D4: 02075,

Figure S1. Transmission polarizing microscope of MMT/PA610

composite with w(MMT)=3.0% which slowly cools to (a) 30 °C, and (b) -

40 °C, respectively.
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Figure S2. TG curves of: (a) pure PA610, and MMT/PA610 composite
with (b) w(MMT)=1.0%, (¢) w(MMT)=3.0%, (d) w(MMT)=5.0%, (e)

w(MMT)=7.0%, (f) w(MMT)=10.0%
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Figure S3. The Jeziorny method diagram of MMT/PA610 before

optimization
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Figure S4. Ozawa method diagram of MMT/PA610 composite material



s15 s15]
14l u e & B4k
Y KII [
3F V. 1.3F
12} \, . 12f
14} \ 14}
10F 104 . 10F ———10%
09F —e—30% 09f ——30%
[ —a—50% f ——50%
0.8 ol 08 70%
0.7} —90% 'y . 0.7F ——90%
0.6 L L A A L A A i 0.6 A L L A L L
0.4 0.3 0.2 -0.1 0.0 0.1 0.2 0.3 0. 06 04 02 00 02 04
w(MMT) =0% MMT/PAG10 Ig(f) w(MMT) =1% MMT/PAG610 lg(?)
g 1.5 §1.5 [
214} Z14F = A
F 1 W11 ]
1.3} 1.3F ¥,
1.2} 1.2} \'\.
1.1 14 ‘\\
1or 10F —am10% v
0.9 09f —e—30%
0.8 [ —a—50%
0'8. = T0%
07 07 —o-90% .
0.6 0 N 2 L L L L L L

-0.4 -0.3-0.2-0.1 0.0 0.1 0.2 0.3 04
w(MMT) =5% MMT/PAG10 la(#)

0.4 -03 -02-01 00 01 02 03 04

w(MMT) =10% MMT/PA610

lg(t)

Figure S5. Mo method diagram of MMT/PA610 composite



